CONSORT 2010 Flow Diagram
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Started survey (n = 762)

Excluded from further analysis (n=92):
- Participant dropped-out before finishing
TPB items

[ First wave (T1) ]
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Manager (n =224)

Employee (n = 259) Job position unknown (n=187)

Male (n=116), Female (n=108)
Ethnic majority (n=176), minority (n=48)
Mean age = 41.54 (SD = 10.49)

Male (n=79), Female (n=180)
Ethnic majority (n=195), minority (n=64)
Mean age = 35.03 (SD = 11.98)

! [ Follow-Up (T2) | l

Male (n=44), Female (n=16), Sex
unknown (n=127)

Ethnic majority (n=48), minority (n=12),
Ethnicity unknown (n=127)

Lost to follow-up (n=139):
- Responded negatively to
question about being contacted
again

Included T2 Managers (n=85)

Male (n=47), Female (n=38), Ethnic
majority (n= 72), minority (n= 13), Mean
age = 44.52 (SD =9.71)

Lost to follow-up (n=172):
- Responded negatively to
question about being
contacted again

Included T2 Employees (n =82):

Male (n=24), Female (n=58), Ethnic
majority (n= 66), minority (n= 16), Mean
age = 36.60 (SD =10.76)
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Lost to follow-up (n=182):

- No contact details
available (Did not reach
final questions on
demographics and contact
details)

Included T2 job unknown (n=5):
Male (n = 5), Female (n =0)
Ethnic majority (n = 1), ethnic
minority (n = 4)

Mean age = 57.8 (SD = 2.95)
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[ Analysis J

H1 and H3: T1 All (no group comparison) (n=670)

H2 and H4: Group comparison Manager vs. Employee

For all analyses: FIML was used to estimate missing values

H1 and H3: T1 All (no group comparison) (n=670)
H2 and H4: Group comparison Manager vs. Employee

For all analyses: FIML was used to estimate missing values




